Arizona Department of Education	NSLP SFSP CACFP ADE Hom
Child Nutrition Program	National School Lunch Program - NSL
pplications Claims CNP Overview	You are logged in as Anne Tai
Claims	
NSLP Site Claim	🖹 Help 🗐 Logof
You are in NSLP Home > NSLP Claims Index > NSLP Sit	
	at are unknown or none served, enter zero (0). Click Save to save your changes or . Be sure to enter only <i>whole numbers</i> (no decimals/cents).
Nautilus Elementary School (08-02-01-105)	Sponsored by Lake Havasu Unified District (08-02-01 2024 Program Yea Augus Original Clair
Regular Claim	Pair Pair
Breakfast - Severe Need	
Number of Days Served:	21
Free Meals Served:	828
Reduced-Price Meals Served:	111
Paid Meals Served:	65
Total Meals Served:	1004
Participants Approved for Free Meals:	185
Participants Approved for Reduced-Price Meals:	37
Participants Approved for Paid Meals:	112
Participants Enrolled:	305
Lunch - High Rate	
Number of Days Served:	21
Free Meals Served:	2030
Reduced-Price Meals Served:	294
Paid Meals Served:	430
Total Meals Served:	2754
Participants Approved for Free Meals:	185
Participants Approved for Reduced-Price Meals:	37
Participants Approved for Paid Meals:	112
Participants Enrolled:	305
Afternoon Snack - High Rate	
Number of Days Served:	9
Free Meals Served:	118
Participants Enrolled:	20
Attendance Factor	
Attendance Factor:	91.84 %

Created by Anne Taffe on 9/8/2023 at 9:56:37 AM Modified by Anne Taffe on 9/8/2023 at 9:59:19 AM Submitted by Anne Taffe on 9/8/2023 at 10:09:16 AM

Cancel

Page 1 of 1

NSLP SFSP CACFP ADE Home

D

https://www.ade.az.gov/cnpweb/claims/claim.asp?programgroupid=2&claimid=759662&sp... 1/9/2024

States and a		utrition P		National		unch Program - NS
pplications	Claims	CNP Overview				You are logged in as Anne T
Clain	ns					
NSLP		Claim				🖹 Help 🗐 Logo
You are in NS I	LP Home >	NSLP Claims Ind	ex > NSLP Site	Claim		
						zero (0). Click Save to save your ole numbers (no decimals/cents).
Nautilus (08-02-01 _{Regular Clair}	-105)	ntary School	l		Sponsored by	Lake Havasu Unified District (08-02- 2024 Program Y Septem Original Cla Pending Submiss i
		en saved success	fully.			
Breakfast -	Severe Nee	d				
Number of Da	ays Served:			20		
Free Meals Se	erved:			796		
Reduced-Price	e Meals Serv	ed:		109		
Paid Meals Se	erved:			115		
Total Meals S	erved:			1020		
Participants A	pproved for	Free Meals:		180		
Participants A	pproved for	Reduced-Price Mea	s:	30		
Participants A	pproved for	Paid Meals:		107		
Participants E	nrolled:			305		
Lunch - Higl	h Rate					
Number of Da	ays Served:			20		
Free Meals Se	erved:			2145		
Reduced-Price	e Meals Serv	ed:		267		
Paid Meals Se	erved:			504		
Total Meals S	erved:			2916		
Participants A	pproved for	Free Meals:		180		
Participants A	pproved for	Reduced-Price Mea	s:	30		
Participants A	pproved for	Paid Meals:		107		

Afternoon Snack - High Rate				
Number of Days Served:	2			
Free Meals Served:	80			
Participants Enrolled:	60			
Attendance Factor				
Attendance Factor:	91.84 %			
Created by Anne Taffe on 10/3/2023 at 1:08:23 PM		Save	Delete	Cancel

Modified by Anne Taffe on 10/3/2023 at 1:08:25 PM

Save

Delete



Claims

Site Meal Service Summary

You are in NSLP Home > NSLP Claims Index > Site Meal Service Summary

× ×

Calendar Year:	2023	
Month:	October	

Nautilus Elementary School (08-02-01-105)

Sponsored by Lake Havasu Unified District (08-02-01)

Accurate as of 11/2/2023 10:14:19 AM

🔁 Help | 🗐 Logoff

2023 October

iginal			
Meal	Count	Rate	Amount
Breakfast - Severe Need			
Free Meals Served	692	2.7300	\$ 1,889.16
Reduced-Price Meals Served	99	2.4300	240.57
Paid Meals Served	116	0.3800	44.08
Add-On for Reduced-Price Meal Subsidy	99	0.3000	29.70
		Total:	\$ 2,203.51
Lunch - High Rate			
Free Meals Served	1,744	4.2700	\$ 7,446.88
Reduced-Price Meals Served	213	3.8700	824.31
Paid Meals Served	436	0.4200	183.12
Add-On for Menu Certification	2,393	0.0800	191.44
Add-On for Reduced-Price Meal Subsidy	213	0.4000	85.20
		Total:	\$ 8,730.95
Afternoon Snack - High Rate			
Free Meals Served	172	1.1700	\$ 201.24
		Total:	\$ 201.24
		Claim Total:	\$ 11,135.70

States and a		rtment of Educ utrition P		National	NSLP SFS	CACEP ADE Home
pplications	Claims	CNP Overview				You are logged in as Anne Taff
Clain	ns					
NSLP		laim				🖹 Help 🗐 Logoff
You are in NS I	LP Home >	NSLP Claims Ind	ex > NSLP Site	Claim		
						o (0). Click Save to save your numbers (no decimals/cents).
Nautilus (08-02-01 Regular Clair	-105)	tary Schoo	l		Sponsored by Lak	ke Havasu Unified District (08-02-01) 2024 Program Year November Original Claim Pending Submission
Your claim o	lata has be	en saved success	fully.			
Breakfast -	Severe Nee	d				
Number of Da	ays Served:			18		
Free Meals Se	erved:			839		
Reduced-Price	e Meals Serv	ed:		109		
Paid Meals Se	erved:			147		
Total Meals S	erved:			1095		
Participants A	pproved for	Free Meals:		190		
Participants A	pproved for	Reduced-Price Mea	s:	27		
Participants A	pproved for	Paid Meals:		107		
Participants E	nrolled:			319		
Lunch - Higl	h Rate					
Number of Da	ays Served:			18		
Free Meals Se	erved:			2072		
Reduced-Price	e Meals Serv	ed:		206		
Paid Meals Se	erved:			487		
Total Meals S	erved:			2765		
Participants A	pproved for	Free Meals:		190		
Participants A	pproved for	Reduced-Price Mea	s:	27		
Participants A	pproved for	Paid Meals:		107		

Afternoon Snack - High Rate				
Number of Days Served:	10			
Free Meals Served:	339			
Participants Enrolled:	64			
Attendance Factor				
Attendance Factor:	91.84 %			
Created by Anne Taffe on 12/5/2023 at 7:32:27 AM		Save	Delete	Cancel

Modified by Anne Taffe on 12/5/2023 at 7:34:49 AM

Save

Delete

pplications	Claims	CNP Overview			You are logged in as Anne Taff
phicacions	Claims	CITP OVERVIEW			
Clain	n s				
NSLP	Site C	Claim			🚊 Help 🖓 Logoff
You are in NS I	LP Home >	NSLP Claims Ind	ex > NSLP Site	Claim	
					none served, enter zero (0). Click Save to save your to enter only <i>whole numbers</i> (no decimals/cents).
Nautilus (08-02-01		tary Schoo	l		Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year December Original Claim
Regular Clair	n				Pending Submission
Your claim o	lata has be	en saved success	fully.		
Breakfast -	Severe Nee	d			
Number of Da	ays Served:			15	
Free Meals Se	erved:			662	
Reduced-Price	e Meals Serve	ed:		94	
Paid Meals Se	erved:			103	
Total Meals S	erved:			859	
Participants A	pproved for	Free Meals:		189	
Participants A	pproved for	Reduced-Price Mea	s:	24	
Participants A	pproved for	Paid Meals:		106	
Participants E	nrolled:			318	
Lunch - Higl	h Rate				
Number of Da	ays Served:			15	
Free Meals Se	erved:			1765	
Reduced-Price	e Meals Serve	ed:		178	
Paid Meals Se	erved:			382	
Total Meals S	erved:			2325	
Participants A	pproved for	Free Meals:		189	
Participants A	pproved for	Reduced-Price Mea	s:	24	
Participants A	pproved for	Paid Meals:		106	

Afternoon Snack - High Rate				
Number of Days Served:	6			
Free Meals Served:	173			
Participants Enrolled:	59			
Attendance Factor				
Attendance Factor:	91.84 %			
Created by Anne Taffe on 1/3/2024 at 8:52:54 AM		Save	Delete	Cancel

Created by Anne Taffe on 1/3/2024 at 8:52:54 AM Modified by Anne Taffe on 1/3/2024 at 8:55:04 AM

Cancel